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PART -C [Marks : 100
BOTANY
(Marks : 50)
51. Which are the pigments involved in ‘chromatic adaptation’ in cyanobacteria and red

52.

53.

54.

BS

algae?

D Bderen, $ahSer§baires” Srbtre:
(1) phycocyanin, chlorophyll - a
28520935, 6% - o
phycoerythrin, chlorophyll - a
PSS, 56 - 2
chlorophyll - a, chlorophyll - b
85508 - 9, 8%6°%S - 9
phycocyanin, phycoerythrin
PE RIS, PEABBS

(2)
(3)

(4)

In which class of algae does the reserve
plants?

D SBKS §ée}ve‘§i Doy ek a’amvg@é 2508 HY

o’ 08 586593& tég@a‘ge.n Q?

LR Al o §80 sotnod?

(Ans: 4)

food material =*4rch resemble that of higher

(1) cyanophyceae ‘2) | chlorophyceae
B pd 26525

(3) xanthophyceae (4) phaeophyceae ( Ans: 2)
P08 b 2&*d

What are the organisms wi ich lo not show growth and reproduction?

FleblattaloR l:‘/)é)ééa)@; 238H0 L9 W0D?

(1) Fungi (2) Viruses
%@OF"ED IBRen

(3) Bacteria (4) Cyanobacteria (Ans: 2)
arfBdoen SohSPeroas

Bacterial cell wall is made up of

er88a0 SmEdito HAS SasrsHEos

(1) Mucopeptides. (2) Lipoproteins.
EgE* PR vk

(3) Cellulose. (4) Poly saccharides. ( Ans: 1 )
?oe;oéésw FOTPBE P.T.0.


indiavidya.com
indiavidya.com

55.

56.

o7.

58.

59.

BS

Indiavidya.com

14

The following is called as “bakers yeast”

FEE) SR’ o BI Beod.

(1) Saccharomyces cerevisiae
Hgr8i R 8D

(2) Schizosaccharomyces pombe

2. gbtopeba el S o3
e ——

o

(3) penicillium notatum
22590 F&wo

(4) Aspergillus flavus

Pavement tissue is present in the ovule| of the following gymnosperm.

D05 Beserero &3 D Desdh) woos® Gofd.

(1) Pinus
S

(3) Gnetum
Derdo

The helobial endosperm is present in the family

St S ©OOBHEKD S G000 Sotnpd.

(1) Asteraceae.
@éé%
(3) Aracaceae.

osgd

Archegonium appeared for the firct Limp in

@ Depdaho FOF6 HBSE 5o s,
(1) Pteridophyta.

Bo& per
(3) Gymnosperms.

Sjée)é Degoen

w60e% 255 (Ans: 1)
(2) Taxus
EREY0
Ao’
(2,. Lamiaceae.
PGHS
(4) Fabaceae. (AnS' 3)
S
(2) Monocots.
DE5Y Degoen
(4) Bryophyta. (Ans: 4)
@ per

During mitosis, a double stranded chrofnosome is attached to a spindle fibre at
BoDegfesd b0, aoty e L@Bﬁé‘gﬁ: ¥or S0&H8° a¥E Sod &otnod.

(1) centriole.
?ooLé:S RS

(2) centromere.
?oo@sﬁaaoﬁﬁ

(3) centrosome.
?oo@Ssﬁ‘s&

~
N
St

cettphate: (Ans: 2)

BeapeBo
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What colours of light are most effective

for photosynthesis?

Silet) o?noég7 i) o“acsge.n 5659&:65 éo@mﬁ@%é’s @ééoéé @e,?éo Srdron?

(1) Red, blue, violet
5D, 5O, Hodies

(3) Infrared, ultraviolet
Soetee, W&o Irs

Most of the cell membranes mainly com

Beo Sqaren @quazéorw &3 L%o&ﬁ o“amvcgoséa EOR

(1) DNA, ATP
ESHID, 8D

(8) Lipids, starch
D, ‘3;35&

Darwin's theory of evolution is based o
TeBS &% HBeDd drpodo éa@o&b ©od0 O
(1) Use and Disuse

Giien, NBHDGTN0
(3) Hybridization

HoBBes

Red Sander tree is endemic.1
EESotsto By ag)s FAT DB vErow
(1) Chittoor.

DERE
(3) Adilabad.

dererd

The following is a common fruit present
‘@3{3@’938 J o Gok PO
(1) Cocas nucifera

5855 S o°

(2) Green, yellow, orange

4 AN F o

0 3 =

(4) Ultraviolet
&S I

prise the following

E508PO0

(2) Proteins, Lipids
D850, 025

(4) DNA, ami»oacids
EHSINLOI S edren

| the following cedicept.
Borr BAPOO w56
2} Mutations
&& 0I5
(4) Natural Selection
@’Jée)é’ézﬁésaeﬁ)a

(2) Kadapa.
BeSH
(4) Khammam.
a::;ﬁa&o
in "Triphala’.

(2) Mangifera indica
Srof e odse

(Ans: 1)

(Ans: 2)

(Ans: 4)

(Ans: 1)

(3) Ficus glomerata
288 Eoder

(47— Terminalia chebula
@6&&)"8(5&3‘3 Benger

(Ans: 4)

[P.T.O.
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Which species show greater influence on biotic community characteristics and biomass?
£ VSwordire efprei, &9 (B850°8R YT (HerdEo ID epeen D?

(1) Link species
@000TPS areen

(2)

Pioneer species

escﬁg aFeésien)

(3) Late successional species

@oé% @:63@“31% aeefoen

(4)

Keystone species
ééﬁél% eP&en

The pigment responsible for the colour pf red algae is

DD BHerw Borhd S8z ég@éego
(1) Phycoerythrin.

PE0BS
(3) Phycocyanin.

28 K058

(2)

(4)

Fucoxanthin.
Ss8° 088
B-Carotene.
Der BB

What is the source of hydrogen ion for photosynthesisiin Hlants?

B ééew:éééocﬁyﬁl_go‘ﬁ)@a FED @@5&5 0P N 'Sren ol Sdnod?

(1) HyO
Do

(3) HyS
';’._30@335 é;E’_QE

Tobacco mosaic virus is trazsuted thjough

e Derons IR é&é‘\)mvs'f 22/ SothEog

/‘)’

(4)

NADPH

oHS @ & D
Hy0,

TS 2086

(Ans: 4)

(Ans: 1)

(Ans: 1)

(1) Wind. (2) Water.
™o Fafes)
(3) Cell sap. (4) Birds. A
ns: 3
Beatdo den ( )
Ripening of fruits is induced by the hormone
Doty Hokerds [5038303 5’5585&5
(1) Auxin. (2) Gibberellin.
o8 288
(3) Ethylene. (4) Abscisic acid. (Ans: 3)
2093 @®E edo
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Which is the Flask-shaped ascocarp present in Fungi?

%g)OLCF’EJESS 550208 Erer wse8) w)s5) DB?

(1) Perithecium (2) Apothecium
2862050 SR AT evsle

(3) Cleistothecium (4) Pycnidium ( Ans: 1)
&3¢ G0 »&dao

Why are the lateral roots said to be endogenous?

FERI ©oSTET BGHDODTHDR JorEogrdd?

(1) Epidermal origin

aa°§5°§ iﬁég’.@ @3301;)660 Sed
(3) Pericycle origin

a’)BzSLéo‘ﬁn Sod 6:‘38)0‘;){)0 Hed

(2)

(4)

Endodermal origin
@063%‘36&@ - WUZ}’\O b
Stelar.seicin

(Ans: 3)

e Beziy sdoyso Seb

The alga present in the corolloid roots df Gymnosporms 1s

958 dere FSepont IFS® eod Zvewo
(1) Volvox.

ergE)
(3) Anabaena.

oA

The number of biogeograpl icai regions [in India is

58 B0t &%) d5 aoh @vg e
{1 8
(3) 16

(2)
(4)

Chlorella.
§0ex

AHOBI0C: (Ans: 3&4)

aﬁgg

10
18 (Ans: 2)

‘Red data Book’ contains information alpout the following.

“BE oot 208’ GBod T8 HBoD Gotnod
(1) Red-coloured insects

AHBorH Eeoseen
(3) Red-coloured fishes

(2)

(4)

Red-eyed birds
DEBEY Hen
Endangered plants

QD Bord Bhen

lg.:muvﬁuuﬂg SN, o_’wééw (A‘HS:—4‘)7

[P.T.O.
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Which of the following is a saprophytic
éeE%o&b TSt Grdsessy @3@03 o) 26?
(1) Monotropa

DI

8

angiosperm?

(2) Selaginella

er@Jer

(3) Viscum

QD
In photo system-I, the first electron acc
508 $55% - 16° Fwands dogS 88
(1) Ferridoxin.

20585
(3) Plastocyanine.

PP SeHAS

The network of all interconnected ecosy
BB8B0 8IS a8 Borrlosals wsdes
(1) Mesosphere.

o2 HE
(3) Biosphere.

Sard8eadn

In which of the following methoas ai '
at regular intervals?

BIDD DO, D DEBS® DETMINDILS TYS'
(1) Drilling
&8oh
(3) Transplantation
BBHTeE0

Which element is the component of ferr
2058)5° ©oSTYRBS Hwrwdo DB?
(1) Copper

oo

(4) Drasera

o (Ans: 1)

pptor is

(2) Cytochrome.
@ﬁ@&
(4) Phytochreinin, (Ans: 1)
P
stem constitute the
S50 IGTR, 36
(2) ‘Tenosphere.
ocHIFRHE
'4) ¢ Troposphere. ( Ans: 3)
@@%&%5

eeds dropped in furrows made by the ploughs

2.8 Lézéaozfn%‘véom Teeneedn?
(2) Dibbling
&8oh

(4) Broadcasting ( AnS' 2)
Seezetoo ]

idoxin?

(2) Zinc
205

(3) Manganese
FSV Y FATSH)

253080

{ .
(4) Iron (ANRS: I)
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If UAG, AUC, GCU, CGA are the codons of m - RNA, what will be the anticodons?
UAG, AUC, GCU, CGA % 6 098 9 Sorgonsd o083 soldslory 097?

(1) ATC, TAG, CGA, GCT

(2)

AUC, UAG, CGA, GCU

(3) UAG, AUC, GCU, CGA (4) GAU, CUA, UGG, AGC (Ans. 2)

In which of the following are bryophyte|pseudo elators present?

&HD '§35°27:6& @ Ls’:ocﬁzc';‘,gé.‘j'eﬁ“" g 5B Goteon?

(1) Marchantia (2) Anthoceros
SeTm)0ds S0&* /TR

(3) Riccia (4) Polytrichum ( Ans: 2)
& 0l FOBES

Which of the following is a living fossil?

B3 DY) SE° 26 ‘FDoD &) Berao’?

(1) Pinus (2) Taxus
259 oD

(3) Gnetum (4) ~Ginkgd (Ans: 4)
e AcY

Rhizophora is an example of these foregts

BE*DT & wEHOD GTrFde.

(1) Evergreen forests (2) Deciduous forests
DES SrOTBesgen wiHoren @EHen

(3) Swamp forests (4) Mangroves .
DEE ©EHen S0t eEHen (Ans: 4)

The pigment associated wi.h {lowering |is

@3})05&0055 Q0R0E0 Gyl 5’3% CSB’)FSO

(1) Chlorophyll. (2) Xanthophyll.
été&?@éu“m Fo&DS

(3) Phytochrome. (4) Cytochrome. (An S: 3)
P 2EE

Exposure of plants to high fluoride cong
IHod ©hE IJrerdd PP HETY & g1
(1) Petiole

(2)

él;é Hodo
(3) Leaf tips and margins
58 Sen, GIrossn

(4)

Only midrib of lamina

@éaeﬁacﬁséaﬁ eﬁ:vlk;éﬁ)

entration results in necrosis or chlorosis of
Pen Seeroichin Soe QEBSLHBTOW.

Stem tips only
sPofo EK5en a’wvté?ﬁo

(Ans: 3)

[P.T.O.
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In India Hockey sticks are generally made from

rE80E0s" 8 Kot Ferdmore HIS° Scr&HITS.

(1) Morus alba.
B 8%

(2)

Melia indica.
$HOase sl

(3) Morus nigra.
S8R J|re

(4)

What is the most ecologically diverse bijpme?

@a’aéea@@édom 0508 JDLAIOSIS ‘DB
(1) Tropical rain forest
ﬁgﬁoé@écglés%o
(3) Temperate deciduous forest
$5088° edhoren wEHen
The presence of stylopodium is a charag
‘Eé’sﬁs&ﬁo’rﬁ: EOA GO0 & Léocﬁ Brénoa]
(1) Apocyanaceae
JNPID
(3) Cucurbitaceae
HBGBD
What is hypanthodium?
33&555&&)0 008 DWe3?
(1) Thalamus
DS
(3) Fruit
Do
What are ‘Jumping genes’?
‘B8 esdogden’ D?
(1) Transposons
L@S{J@*‘@E‘J

D’ 8?
(2)

(4)

(2)

4)

(2)

(4)

(2)

(3) Introns

(4)

Salix babylonica.

FOEy erdS Ase (AnS: 1)

Temperate rain forest
‘éé}%é&é éo:lt*"ﬂqo
Taiga

(Ans: 1)

e

teristic featu' e of tne following family.
D) aﬁaaa)é OFLNR

I .amiaceae
QDD
Apiaceae
DD

(Ans: 4)

Integument
®oEESS0

Inflorescence

(Ans: 4)

é)@&)mgéo

Cistrons
?’\3@353

ao@PSQ

Exons ([ .
\A‘HS—'I')i.

AR


indiavidya.com
indiavidya.com

91,

92.

93.

94.

95.

BS

Indiavidya.com

2

1

Which of the following is not a characteristic of the monocots?

s @o&b TS D6 DEEEDere g0 s°th?
(1) Parallel venation
Jdrodl Sl aﬁécﬁéo

(2)

Trimerous flower

iéaa}vﬁd’mé B’J\é‘go

(3) Intercalary meristem
a’aacséé Dwaééea"é@
In mitosis, fungi differ from other euka
D Defasss® %‘éo@"m =tte] @&éo@ﬁé EHes]
(1) Intranuclear Mitosis.
BOEPESEADE erdS
(3) Amitosis.
Aot Defesd
Rafflesia is a
B
(1) Partial root parasite.
B8 [ SoED
(3) Partial stem parasite.
FEE seol HoedED

(4)

(2)

(4)

(4)

Lever Mechanism for pollinutian iz seen in

Reticulate venation

2°eP5ed S avééiéo

ryotes in having
& QicHost DEIBFeom.

Mitosis.
Do DS
Interphace.
e (6%

Total root parasite.
RORFPY o o) ED
Total stem parasite.

[ A4

Sorg seol Hoo) &

(Ans: 4)

(Ans: 1)

(Ans: 2)

(Ans: 3)

8586 cﬁPoLéBéaﬁD TRqoe ST DB 20 38

(1) Pisum. (2) Mirabilis.
205 DTDOT

(3) Salvia (4) Orchid.
I Sl

Which of the following pteridophyte is dalled as ‘Maiden hair fern?

& (800 T3S DowAS Trawd PG o BVY HeoFR?

(1) Equisetum (2) Pteris
S8R0 &8%

(3) Lycopodium (4 Adiantum
Sl wlatowte [STatorvlel RIS

[P.T.O.
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Red drop occurs at the wavelengths of
TEE-D &8 SBorBL0 5 2xorhidd

(1) 495 nm (2) 680 nm .
(3) 560 nm (4) 585 nm (Ans: 2)
Natural System of classification is proposed by
Seheez éééiﬁm é§§)‘cgéa @6&3"&0{):6 Evileb)
(1) Takhtajan. (2) Bentham and Hooker.
BPePS Borsd, Ses8
(3) Engler and Prantl. (4) Hutchinson.
ois, @**oeaé SDHS (AnS: 2)
The ‘glassopodium’ is present in
TRRHREE DO’ B28° soH.
(1) Lycopodium. (2) Marsilea.
Ss'ed o SRS Ilewd
(3) Selaginella. 4, HKquisetum. (AnS: 3)
erBIeP Sa8edo
The cell division that occurs only in reJrcductive cells.
8558 Beord Som(BD eetiord Defesd
(1) Meiosis. (2) Mitosis.
EohB8es efessd D DS
(3) Amitosis. (4) Cell Division.
(Ans: 1)

ADoerBT Defess

Beo gfasd

The symbiotic association between fungi and plant roots results in the formation of
%@o@bw, ) 3 VA DGE 35S D HOBorr 8 VB yEaeom.

(1) Root nodules.
3 anden

(3) Hairy roots.
ECORe

(2)

(4)

Actinorrhiza.
983F3ee

& o
Mycorrhiza.

=SB (Ans—4)——
e a_ ‘ L]
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ZOOLOGY

(Mark

s :50)

The first success in the ‘test tube baby’ was achieved by
‘BY s DY (HB0oHS” Imtseo Descabo FHoDoB.

(1) Steptoe & Edwards.

L, ) e»
(3) Kuhn & Rutherford.

&S, PG eo
Who is called as the father of White Re
B8R E0S" B DPD DS DeoDDEH IHK?
(1) M.S. Swaminathan

M.S. SoeES
(3) D. Balasubramanyan

D. a?oéa@aéaéggﬁ
One of the following is the study of rept
Léo&‘: BS 2.88 ééé@)@ﬂ@, &St egsd
(1) Acarology

ATPTPeR

(3) Herpetology
SFOyEroR

Which of the following braiciies i bi
knowledge to human welfa re?
800 e oS D) R @oﬁ)éam
(1) Bionics

2GR

(3) Eugenics
5@ DE)

An animal that is called as “Venus flowq
DR Frowy ol beodnd al 2o B

(1) Spongilla.
FyoBep

(2) Stanley & Oparin.
IR, 208 e
Stanley & Bernard.

(Ans: 1)
(4)

Folution in India?

G. Krishnan
G. @KS%S
V. Ku'1en

V. (28cuT

(2)

(4)
(Ans: 4)
iles and zioohibians.
:026 6"@\
) Entomology

NobrdreR

(4) Ornithology

wOprod

(Ans: 3)
plogy deals with the application of genetics

5 @500 ééé"’@ P 0?
(2) Euphenics
G
Euthenics
@ RE)

(4) (Ans: 3)

br basket’ is

(2) Euplectella.

clar3er
m [ag]

(3) Euspongia.
evthivTel-Tovor

(4)
E@oear
[P

o tAns: 2)
Cliona. \ '
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106. The largest living arthropod, Macrocheira kaempferi, belongs to this class.
580 8020 oF 08 Y GFNE & JgrrrIs TordEHod
(1) Arachnida (2) Crustacea
T8 )5 E R0
(3) Insecta (4) Merostomata ( Ans: 2)
adp Qo8P padher )
107. Aquatic mammals are NOT found in thjs order.
2o §8oren & [Ein $okokD.
(1) Cetacea (2) Carnivora
& ol S oe
(3) Sirenia (4) Edentata ( Ans: 4)
2808 SRode ]
108. One of the following has notochord in itjs adult life.
808 .8 o°d @%‘; EDsost BgBodo eotwod.
(1) Ascidian (2)" /Pecromyzon
DDEHS S DS
(3) Tropidonotus i t) . Notocrinus .
BT S (Ans: 2
109. South Asian freshwater bivalve {hzvorbduces pearls of valve is
Dengdd Losegen e Tohiie BIpQharwon 8 & Sartr £
(1) Lamellidens marginali... (2) Pinctada fucata.
YT JPBTERD Qo @é’ééﬁ
(3) Pinctada margariti‘era. (4) Mytilus viridis. (Ans: 1 )
Saos;é é:vcg@éﬁ Doe FBod DBES
110. What ecological varieties of earthworms are used in Vermicompost process?
SBTONY BoPS g)[éor’né’& & Eardtes Ssre) ardarsnen TeEErd?
(1) Epigeic & anecic (2) Anecic & endogeic
A&, AVRE Gsren AARE, AotPRE Bsren
(3) Epigeic & endogeic (4) Only endogeic
DG, No&tHE Sseen DoteS- oSS (A—ns—1—)i
A
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The major silk producing state in India
g8 BEod® 1D whBorr 6HHBUD g0

5

18

(1) Andhra Pradesh (2) Assam
©o( (BB ©F\0
(3) Gujarat (4) Karnataka
Hoeoes Sooeos (AnS: 4)

Plasma membrane is lacking in one of {
Eerorred® 2. 8mS° SpAmEito Bindosd 4
(1) Mitochondrion

@_Jéﬁgwo@ciiﬁ

(3) Ribosome
BE° P

Reduction division during oogenesis ocg
wofedto choh Eohssen Jgms noths® Y
(1) Primary oocyte.

(EreR0E @ fes S)Seao
(3) Secondary oocyte.

Bdak Eig des S8mo
One of the following is also 4 prokaryot

808 TBS® 2,883 @5@555&35 oo e o

(1) Lysosome
B B

(3) Mitochondrian
@_Jésss"o@ﬁd’lﬁ

@)
(2)

(4)

urs in
Naslablela)

(2)

14)

(2)

(4)

Osmotrophic nutrition is the characteristic of

gﬁﬁé@s‘g%ﬁ Des DB Dres oFeeo

he following cell organelles

Golgi complex
™8 Hodo
=] ™Me

Lysosome
[SEvv

Primordial germ cell.

G._)Eﬁ)vgdi)e'? 235858800
Egg mother cell.
©oE SIr&)¥eso

c cell organelle - Identify it.
Q. roBosod.

Ribosome

BE P
Golgi complex

™8 Hodho
a3 ~me

(Ans: 3)

(Ans: 1)

(Ans: 2)

(1) Oscarella. (2) Echinococcus.
©J)Ber 58s° %%

(3) Amoeba. (4) Paramecium.
e doer Hoeddaho

[P.T.O.


indiavidya.com
indiavidya.com

116.

117.

118.

119,

120.

BS

Indiavidya.com

26

This is a form of protein - energy malnutrition produced by severe protein deficiency.

20 HIPos DS 650 S BON a8 S5 FET - 8 Vs [EoerEso.

(1) Marasmus

éacs"‘cﬁéﬁ

(2)

Tropical Sprue

(3) Kwashiorkor
Sptovealste]

(4)

| D K & Vi
e
Obesity
320503068

Rats are reservoir hosts for the organisms that cause
& 56 BenisEain 8% se88 £ denden $E0H STV

(Ans: 3)

(1) Yellow fever. (2) Malaria.
¢ &6 SoB605

(3) Dengue. (4) Plague ( Ans: 4)
Goir 205

Which of the following diseases is trangmitted by.the vizltors?

8od ayes® IEbe oy SRS dB?

(1) Filariasis \2) Mad-cow disease
2BBERS &8 g6

(3) Tuberculosis (4) Mumps ( Ans: 1)
&g 85gE°R% oo

The structural and functiorial 1.it of lungs is

&:08%e VoY, [BArES vrwo

(1) Papula. (2) Tracheole.
FHe @ﬁécﬁmﬁ

(3) Alveolus. (4) Ctenidium. (An S: 3)
OIEPOR &A&a%o

The respiratory organs of Limulus are t{he

DogeR choth FRREasrdabares B

(1) Trachea. (2) Gill books.
PO TeTeen PSSRy

(3) Book lungs. (4) Gills. (Ans: 2)
DJsesed &3dB8Sen Sodyen
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An iron containing respiratory pigment that is purple red when deoxygenated is
eaé‘ga@fﬁea 2BOASHD 5D deo S BotHS® G0t aBSains aﬁogéégéo

(1) Haemoerythrin. (2) Haemocyanin.
&3 DBRS IRt Sal
(3) Chlorocruorin. (4) Haemoglobin. ( Ans: 4)
s’ E0s SRS
The part of the human heart that has thicker walls is the
EVS NI KP@CS&JO@'SS & grifo BHH0 Fken SO Gotwod.
(1) Right auricle. (2) Left auricle.
HE 808 AL EBY (Ans: 4)
(3) Right ventricle. (4) Left ventiicle:
BHE 2808 A& ¢ 5B5
The volume of air that will remain in lyngs after nor.nal ¢xpiration is the
Ferde TG00 Shard ¢63Hd8HeS® HADEED md b JoSremo
(1) Functional Residual Capacity. (2. "Zesidual volume.
BakreE eBdh o B3R 0% HOLTEO
(3) Vital capacity. (4) Tidal volume. ( Ans: 1)

S0S Fggo

BES 0350500

Contraction of ventricles in<W:G 15 represented by

ECG c%oth 8680 Hosbaed) rdpnid
(1) P.-Wave.

P-#80i0
(3) QRS - Complex.

QRS - $ogio

(2)

(4)

PQ-interval.

PQ Kot o R
T-Wave.

T- g&oiso

In human beings, the duration of one cqrdiac cycle is

i dhoth el HFEE Hedho Frorheoh Eﬁ% Qadaho

(1) 0.08 Seconds.
0.08 BEoty

(2)

0.5 Seconds.
0.5 8oty

(Ans: 3)

(3) 0.8 Seconds.
0.8 8o

| 1
D CCOILUS.

870
8.0 8o

[P.T.O.
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Which part of the nephron has minimum reabsorption from filtrate?

&0 Hod EVH a’g):ééi;ésao 230D B@DE grifo B?

(1) Proximal convoluted tubule
30D HoLdRS L

(2)

Henle's loop
28 Baxo

(3) Distal convoluted tubule
Cﬁﬂig PoHPE T8

The common passage for swallowing foq
5P QoorErI8 d é)wgéséanﬁ)g &Y 6
(1) Gullet.

o
(3) Gullet & Larynx.

o, Se] 2838
Salivary gland that is absent in human
S350t S0k erer &@Eﬁo@
(1) Infra orbital.

IS S
(3) Submaxillary.

o&sodse

Universal donors give their bloor! te ail
DEFrsHTESe TR 288 o) O Kkoimdire
(1) Antigens.

t‘{)é’ézﬁg 2ISPEDOETHD
(3) No antibodies.

L{J@aa’sﬁmocﬁ@

Parents of these blood groups can prody
808 B8 JFwmrdire éQcﬁo@ow O, A, B, ABH
(1) AxB

(3) Ox AB

Which of the following possesses two Barr bodies?

(4)

Collecting duct
‘éo[ﬁa’ﬁs@ 88

)d and breathing air is the

o S0
(2)

(4)

5 is the

Q@

)

Larynx.
K98 eS8
Pharynx.
E%S

Pavotid.
2E°BE
Sublingual.
@5‘%3’?&

(Ans: 2&4)

(Ans: 4)

(Ans: 1)

other blood group people because they have
B8 B JoHEST o8t
(2) No antigens.
@’:é’éég 239BPe008)
(4) Antigens & antibodies.

(Ans: 2)

@ééé 22d5Pen, @@3@@0&?0})

ice O, A, B, AB blood group offspring.
88 Daotrdiren EONS Soerard)) EdKe.

808 e3¢ Bok e Tsben EOA S0TH Nb.

(1) 44 + XXX
(3) 44 + XYY

(2) A xAB
4 OxO (Ans: 1)
(2) 44 + XXY
(4) 44+XO0 (Ans: 1)
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The infection chain involved in plague is

0 g6 FoEE HoBw 1k

(1) Man-arthropod - man
eI - @@@55 - S0P

(2)

Man-snail- man
PR = DG - DPSDE

(3) Rat - arthropod - man
Qg - :?:9[_8;@55 - e

(4)

Bird - arthropod - man
Sgen - oBHE - sesne (Ans: 3)

Which of the following is NOT transmitted through droplet method?

808 8BS Doty DL TR .?Po[éé’&:oé?@& J6?

(1) Diphtheria
&500%
(3) Tuberculosis

@émgégav?\ﬁ

A food web consists of
588 ereoo & woToN BOA &otood

(1) Many interlinked food chains.
I8 ©oBS Howodo Ko @sBE FrEden
(2) Many independent food chains.
O3 BBl ey FrEhioen
(3) One complex food chain.

(2)

(4)

Whooping cough
608 &1

Polio (Ans: 4)

PO T

28 SoBGES GBS o (Ans: 1)
(4) All the above.
Y,
A Colourless odourlessiand non-irritating but very poisonous gas is
Borh, a5 & 5afd EDA0SD erer wrdhBESHE i) H6?
(1) CO (2) NO
2 (Ans: 1)
(3) SO, (4) CH,
Gir wildlife sanctuary is located in this[State of India
AG &g @as% FoENN grEEBoS® & THod] &B.
(1) Orissa (2) Andhra Pradesh
0P SOSHBE
(3) Gujarat (4) Kerala .
Koo & Lot (AnS. 3)
[P.T.O.
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In human inner ear, the receptor cells of sound are located on the
SrdHe S50 3Dk ra’ema @D@é Segren aHE Gotrow.

(1) Tectorial membrane.
5%’6&3@5’ &So

(2)

Basilar membrane.

Esg\m‘mﬁ o ‘41’\
NN

(3) Reissner’s membrane.
65585 &So

Pacinian corpuscles are

HAADHR B S en

(1) Pressure receptors.
HES s

(3) Touch receptor.
ES)ls) Lr‘v&’::"s"e.n

In human eye, the cornea is formed of

$7°85 Bot3choth HEHewo HA w8 By EIod.

(1) Sclerotic layer.
Cﬁacﬁc_ﬁntﬁo

(3) Retina.
3@5’36&@0

The Common name of Cirrliings mrigala is

%@265 @umey eedes TPek
(1) Bocha.
&°F)
(3) Mattagidasa.
a’)adgﬁc‘f,”cé

(4)

(2)

(4)

82}
\A\

(4)

(2)

(4)

Scala tympani.
e Bor

Thermo receptors.
[V (v a

&3 [eersTe

Rheo reseptors.

B@BBhrE

Choroid layer.
88 Heeo

Conjunctiva.
Boe3ary

Erra mosu.
cDEﬁBJ“"coJ
Vanamatta.

FRS0e
[5]

Serum gonadotropins are used in one of the following.
808 8 2.8 TS RES FIEErdSeH SHIPAT.

(1) Out breeding

(2)

Insemination

(Ans: 2)

(Ans: 1)

(Ans: 1)

(Ans: 2)

8J°E./J°?S E{)ae:éc‘éo
(3) Superovulation
RTINS M

(4)

ESESHTR O
Embryo transfer
Alelatvi oM

(Ans: 3)
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Basal metabolic rate is high in/during

1

[ mitet éé@o‘iﬁ Tew B0’/ & $oohos® KB eotnod.

(1) Hypothyroidism.
R Porandeso

Exercise.

(2)

S84 ;pérﬁm Lo

(3) High environmental temperature.
0B 50155 BB
Siberian cranes migrate to India from K
2DBEHS Soren BIEE Lotk Sargood ge
(1) Winter begins in Russia.
6a°§e35 Baesee @?603;%‘0%
(3) Summer begins in India.
eRESBE0S° I @"’608,?:0%

How many ATP molecules are formed in §
in a TCA Cycle?

TCA $e0%08° a8 K8t e Basreed &
(1) Two

Both
(3) Six

eV

Hydrolysis of one ATP niGiawale gives tl
2.8 ATP o o d3lpdy,a) 48 Sudo
(1) 6,200
(3) 8,200
Who received Paul Getty award for wilg
585 @Ds% DoLZeHP S B 0t ©o

(1) Birbal Sahani
B [/

(4)

Prolonged starvation.
5%3%3 iﬁa‘:ﬁo (AnS: 2)
fussia before the

5ET8 S Seaw.

(2) Summer begins in Russia.

Baxgs® B Lroternd (Ans: 1)
(4) Rainy s2a.on vegins in India.
PEER RS Sovsre @0603,30“0%

ubstrate level o.ZGation of one glucose molecule

codhestyKekes SO A5 ATP eewien d?

2) . Four
TeeniHd
Eight

RAE

= (Ans: 1)

1is much energy in calories.
5
(2) 17,200
(4) 9,200
llife conservation?
E°HE SE?

(2) Salim Ali
[0 =0

(Ans: 2)

(3) Maheswari

(4)

éa’ﬁ?%ogé

Boétﬁm&’aﬁ

[P.T.O.

Venkatraman ( A ns- 2)
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147. Oil of industrial importance is extracted from the following fishes.
FOEE (Frergorio ook 8od Jde o8 DEBIF.

(1) Hilsa (2) Harpadon
&) Shouzes

(3) Sardinella. (4) Rostrelliger (AnS: 3)
FOIen o°(RQe5

148. The part of brain that has the greatest jnfluence on the endocrine system is
@oé@*’a’aé 553 $oes RN a0 EOAS 1SS geito 1

(1) the Pons varoli. (2) the Cerebral cortex.
%53 58%0 o, Sepog
_ ‘ (Ans: 4)
(3) the Pituitary gland. (4) the Hyrpatnalamus.
g)(ﬁwvé{f_ﬁo@ @55‘2\55\ =1e)

149. The hormone that reaches peak level dyiring lute2! phas¢ of menstrual cycle.
2008 BBH0 oY) e ahS B wtord $%oapiind® spodfars B S cwd.

(1) Progesterone \2) Luteinising hormone
rEYo°S er3Zgoh S

(3) Follicle stimulating hormone (4) Estrogen ( Ans: 1 )
@es-so@acsé 56653 JREBS

150. The carbondioxide content Ot viogas is
@R S” SESEERE JSC
(1) 10-20%. (2) 30-40%. (Ans: 2)
(3) 50-60%. (4) 70-80%.

BS
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